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Which of the following JAR file options is used for creating an archive?
Response:
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Answer: D

You work as programmer for ABC.Inc. You have purchased a Web application named Secure
Programmer that uses the programmatic authorization, and the security roles that are not used in your
organization.

Which of the following deployment descriptor elements must you use so that the Secure Programmer
application can work with your organization?

Response:

A. <security-role-ref>

B. <security-role>

C. <security-constraint>
D. <login-config>

Answer: A

You work as an Application Deployer for UcTech Inc. You want to configure a filter for a Web application
using the deployment descriptor. Which of the following attributes are mandatory for you to implement
in order to accomplish the task?

Each correct answer represents a complete solution. Choose all that apply.

Response:

A. <filter-class>

B. <init-param>
C. <filter-name>
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D. <display-name>

Answer: A,C

You have created a Java application that will retrieve and insert data into a database table. Which of the
following objects will you use to pass the JDBC Driver to obtain a connection to the database server?
Response:

A. DriverManager
B. ResultSet

C. Connection

D. Statement

Answer: A

Which of the following JAR file options creates and includes a manifest file?
Response:

A -M

B.
C.-0
D.

Answer: D

In which of the following locations the helper classes of a session bean class reside?
Response:

A. EJB JAD file

B. Deployment descriptor
C. META-INF directory

D. EJB JAR file

Answer: D
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Which of the following statements about a filter are true?

Each correct answer represents a complete solution. Choose all that apply.

Response:

A. Like a servlet, afilter is also declared in the deployment descriptor.
B. The life cycle of a filter is managed by the container.

C. The life cycle of a filter has three methods, namely init(), service(), and destroy().

D. Every filter must implement the Filter interface.

Answer: A,B,D

The interface accepts results from a SQL SELECT statement.
Response:

A. Connection

B. Result Set

C. Prepared Statement
D. Database Meta Data

Answer: B

Which of the following modifiers is not an access modifier?
Response:

A. protected
B. abstract
C. public

D. private

Answer: B

Which of the following exceptions will be thrown if the commit() method fails?
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Response:

A. Destroy Failed Exception
B. Null Pointer Exception
C. Login Exception

D. Security Exception

Answer: C
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